Q). What is the difference between the two ‘Mech pairings below? 

Pair 1:- Fenris A + Fenris D

Pair 2: Fenris Prime + Fenris B.  

Fenris A + Fenris D are both uncommon cards

Fenris Prime + Fenris B are common cards

No 

Fenris A + Fenris D cost 7 +2A +1M +1T

Fenris Prime + Fenris B costs 3 + 1A +1M +1T

No

Read on. 

The Rule of Sevens
(or why I don't play with Fenris A’s & D's)

By Mark ‘Monty’ Roberts aka Sillywiz
    Recently, after I had critiqued a deck on www.alphastrike.com, someone asked why I thought that the Fenris D was a bad mech. To be honest I had to reply by saying that I thought it was a great ‘Mech, but it just didn't fit in with the rest of my ‘Mech. Here is my rule of sevens, taken from my reply to Fenris question and updated by adding a ‘progression’ theme.

Open Quotes........ 

Fenris D, well yes. I'm not doubting that it is a decent ‘Mech but here are my thoughts regards card playability. 

7 is the magic number in Battletech.  7 damage kills most resources (Field Construction Site and Solaris contacts are the two painful exceptions to the rule). Seven also kills the most commonly used ‘Mech. Seven kills a Fenris, Seven kills a Blackjack (non C3), Hatchetman, Centurian, Chameleon,  Owens, Phantom etc).  Therefore being able to deal seven damage to something is a very useful combination to have up your sleeve.

There are a few ways to reach  7 damage.

    7 
    1 & 6 

    2 & 5 

    3 & 4 

or; on the negative side 9 - 2 also  gives 7. (more about this later) 

Now if we take the example of fast wolf ‘Mech that attack in a group to give 7 damage, generally follow the following trend. 

Group 1 (2  + 5  = 7)

2 Attack ‘Mech. 

Fenris A, phantom P Grendle C 

5 Attack ‘Mech. 

fenris D, Grendle P.

Group 2 (3 + 4 = 7)
3 Attack ‘Mechs;-
Dragonfly P , Fenris P, Dasher P, Jenner II C, Phantom B 

4 Attack Mech:- 
Phantom A, Phantom D, Fenris B, Man O' War Prime, Man O' War B (both using the Wolf Box power) 

First of all there are a lot more 3 and 4 attack ‘Mechs than there are 2 and 5 attack ‘Mechs. This means that with the 3 and 4 attack ‘Mechs you have a lot more feasible/playable combinations or reaching 7.  Second the 4 attack ‘Mechs will hit generally hit the table one turn faster that the 5 attack mech. This means that you are able to deal your worst, 1 turn earlier. 

Say you are attacked. (remember that 3 + 3 + 3 = 9 i.e. 3, 3 attack ‘Mechs)
If you happened to have a heavy fog in you hand and played it the -2 damage received by the attacking ‘Mechs would still give you 7 damage. Also the attackers ALL deal 2 less damage. This theory has led to a series of FOG Wolf decks where there are a number of Dasher/Jenners as well as the blocking Dragonfly/Fenris Prime and the fast dashing Phantom B, coupled with a number of heavy fogs. This strategy allows you to block, use your defensive heavy fog and still kill off one of you opponents ‘Mechs without loosing any of your own. 

Now on to some more practical things. 

Playing with say Fenris B and prime opposed to Fenris A and D’s also give the solution to the problem of dealing with your opponents fast mechs.

The Fenris Prime will pick off a dasher, Jenner II C, koshi, spider etc. The Fenris A will only get the dasher. 

The Fenris B will pick off, all of the above, plus then assassin, and the mongoose. There are no other significant benefits for having the 5 damage. i.e. there are no fast ‘Mechs that die on 5 damage, so the extra point from the Fenris D is wasted. 
What about missiles? 

The anti missile ability is useful on Fenris A & D, but it still doesn't cut it. 

Take 1 Ryoken D, with a retro missile rack, and Targetting Ace. This ‘Mech attacks and you are in a world of hurt. So you have to hunt it, to get rid of it.

Best way to hunt it, is with 3 dragonfly primes (cost 9) and take no missile damage. You'll need 2 Fenris D (cost 10 but you will take damage) or 5 Fenris A (cost 15).

Also the Dragonfly has the ‘jump’ ability, which means you can wrestle the all important initiative from your opponent. 

Progression. 

This is where the choice of 3 and 4 become even more competitive. 

2 ‘Mechs with 3 damage each = 6 damage 

2 ‘Mechs with 4 damage each = 8 damage 

3 ‘Mechs with 3 damage each = 9 damage 

2 ‘Mechs with 3 damage and 1 ‘Mechs with 4 damage = 10 

3 ‘Mechs with 4 damage and 1 ‘Mechs with 3 damage = 11 

3 ‘Mechs with 4 damage or 4 ‘Mechs with 3 damage = 12 

and so on. By using 3 and 4 attack ‘Mechs you can cover all the options you need, with a 2 and 5 you only cover the numbers:-  2,5,7,9,10,12, 15 etc. which can be very inefficient, as dealing 13 damage requires you to use 3  5 attack ‘Mechs and waste 2 points of damage.

Inner Sphere 
If you go and look at your cards now you'll suddenly think, 'hold on a minute, that is ok for Clan, what about the inner sphere?' Well generally the inner sphere ‘Mechs deal less damage that their clan counterparts. However, they tend to be tougher and have overheat options. The Davion deck below also obeys the sevens rule, although it is not as obvious. The hatchetmen have an overheat 1 + 1 option, which means that they can deal 3 (normal) and 4 (revised) respectively.

A redline pilot on the Zeus can deal a straight 7.  The Comguard Response Teams allow one of these slows ‘Mechs that is hunted to deal 7 damage and sacrifice itself (it only cost 2 or 3 resources) to take out a 4 or 5 resource cost mech. 

Examples 

Here are a couple of decks that use the 7 theory. 

Dash Wolf 

6 Dasher Prime 

4 Fenris Prime 

6 Phantom B 

6 Phantom A 

4 Fenris B 

3 Superior Navigation 

3 Pushin' the envelope 

3 Heavy fog. 

9 Assembly 

8 Tactics 

7 Munitions 

1 Think Tank 

Davion Solaris

6 Spector 

6 Hatchetman 

6 Hatchetman Revised 

6 Zeus 

6 Redline Pilots 

3 Risky Combat Jump 

3 Com guard Response teams 

9 Assembly 

9 Tactics 

2 War Funds 

2 Black Market Connections 

2 Solaris Contacts 

Why do you think that seven is my lucky number? 

Monty 

Close Quotes.

Monty can be contacted by email at sillywiz@evesham.ac.uk, or leaving a message on the www.alphastrike.com deck section.

